
BOS SLIP-ON OVAL

Pos Qty Description Part No. Order number

1 1 Muffler right aluminium 299529 0210510A - Alu

2 1 Muffler left aluminium 299530

3 1 Adapter right 298136 Weight

4 1 Adapter left 298137 Original: 12.3 kg

Bos: 7.6 kg

Mounting kit : 280167

5 1 Mounting bracket right 227108 Noiselevel @ 3800 RPM

6 1 Mounting bracket left 227109 Original: specified 85.8 dB(A)

7 4 Bolt M6X16 408078 measured 85.8 dB(A)

8 2 Gasket 404005 Bos: Ec appr. 86.8 dB(A)

9 2 Clamp 45/48 280047 open 93.5 dB(A)

10 2 Bolt M8X25 408005

11 2 Nut M8 408008 Performance 

12 2 Washer M8 408062 Bos: 132.2 Hp / 13048 rpm

Stock: 128.2 Hp / 13125 rpm

Max Hp incr.:+ 6.7 Hp / 6770 rpm

Max Nm incr. :+ 6.3 Nm / 6668 rpm

Tips

More information like photos and

a full color dyno graph can be

found on: www.bos-exhausts.com

 

 

 

SUZUKI DL1000 V- STROM

1 8 3
9 4

6

72111210

5

S19


